V1 V E N D |
A RCMHITETCT Suw

SECURED AND COVERED CYCLE PARKING

UNIT E3U BOUNDS GREEN INDUSTRIAL ESTATE RINGWAY LONDON N11 2UD TEL/FAX +44 (0)20 3232 4000
EMAIL info@vivendiarchitects.com
Registered in England & Wales No. 6864628 VAT Registration No. 832 2718 40



2200

1500

2500

1500

J0

305

1305

1525

1830

2135

BIKEDOCKSOLUTIONS

THE M ANUDUFACTURINDG ETANDARTED

Lt

B ik Eedalaan
vy bk ks rioes Lz
[CEETREISRE

ik S Varliog Rocks ul
Epace Reourcmerts



1490

Bolt Hole

8mm Steel Rod

Attached by 3mm Steel Plate and M8 Bolts

Bolt Holes

1060

1200

____________________________________________________

4

1o Al

==
!
N—

1o ol

1o ol

1o ol

1o ol

1o ol

1o ol

1o ol

1o ol

1o ol

T —

=—|

I

]

I

]

I

|

l_ I

n':Jl: )
‘QI__! 1

=—|

I

]

I

]

I

|

l_ I

nr;u )
— . I

=—|

I

]

I

]

I

|

l_ I

n'_Jl: )

]

I

]

I

]

I

]

I

]

|f_} )
q—_!d T

=—|

I

]

I

]

I

|

l_ I

Ilt__l'l )
‘q__!—u T

]

I

]

I

]

I

]

I

]

|r_}| )
—— I

:—|

I

]

I

]

I

]

I

]

= I

||_Jl| )
— . I

]

I

]

I

]

I

]

I

]

|r_1| )

:—|

I

]

I

]

I

]

I

]

= :

o )
—— 7

__________________________________________________

—

Bolt Hole

305

305

305

305

305

\Bolt Holes

Fixed to ground with M10 Rawl Bolts x 2 per end

8mm Steel Rod Supports

2mm Steel

40 x 40 Steel Box Frame

Rack Finish - Galvanised
Bolted together using M8 Bolts
Bolted to ground using M10 Rawl Bolts

Fixed to ground with M10 Rawl Bolts x 2 per end

UNLESS OTHERWISE SPECIFIED: FINISH: DEBUR AND
DIMENSIONS ARE IN MILLIMETERS BREAK SHARP
SURFACE FINISH: EDGES

TOLERANCES:
LINEAR:
ANGULAR:

NAME SIGNATURE DATE
DRAWN
CHK'D
APPV'D
MFG
QA MATERIAL:

WEIGHT:

DO NOT SCALE DRAWING REVISION

Bike Dock Solutions
www.bikedocksolutions.com
0800 6126113

Semi Vertical Rack Al
Customer Drawing

SHEET 1 OF 1





